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Note :  Answers may be written either in English or in
Hindi; but the same medium should be used

throughout the paper.
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Attempt all questions.

All questions carry equal marks.
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1. (a) For each of the following six scenarios, say
whether the value of the doilar will appreciate,
depreciate, or remain the same relative to the

~ Japanese Yen. Explain each answer. Assume that
exchange rates are freely floating and that all other
factors are held constant. . 8

" 1. The growth rate of national income is higher
in the United States than in Japan.

2. Inflation is higher in the United States than in
Japan.

3. Prices in Japan and the United States are
rising at the same rate.
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(b)

(a)

(b)
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4. Real interest rates become higher in the
United States than in Japan,

5. The United States impose new restrictions on
the ability of foreigners to buy American

companies and real estate.

6. US wages rise relative to Japanese wages, and
American productivity falls behind Japanese
productivity.

What is the difference between ADR and
GDR? 7
Or
Consider a period in which the US dollar weakens
against most foreign currencies. How does this
affect the reported eamnings of a US-based MNC
with subsidiaries all over the world ? Consider a
period in which the US dollar strengthens against
most foreign currencies. How does this affect the
reported eamings of a US-based MNC with
subsidiaries all over the world ? 8

Explain the different modes of payment in
international trade ? 7
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A project of the foreign subsidiary has a beta of
1.10, the risk free retumn of 15%, and the required
return on the market being estimated at 20%. Find
out the project's cost of capital. What other factors
you think will be required for calculating the cost
of capital of a MNC? 7

An Indian investor invests in America and British
securities in proportion of 75% and 25%. The
expected return being 15% for the former and 12%
from the latter. The risk manifesting in standard

deviation is 15% in US securities and 18% in
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British Securities, (.6 is thenr correlation. Find out
(a) portfolio return and (b) portfolio risk. 8

Or

If the rate of exchange is:
US $ 2.0000-2.0100/£ in New York

US $ 1.9800-1.9810/£ in London

Explain how the arbitrageurs will gain.
Is forecasting of exchange rate relevant?
Discuss. 15
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Explain a cumrency swap with a suitable
example. What kind of risk is borne by a swap
dealer? 8

Comment on the use of interest-rate swap for

interest rate risk hedging? 7
Or

Find out the translation loss/gain (all four
methods) on the basis of the following data
supplied by the Indian subsidiary to its parent unit
in the USA:
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(Amount: Rs., million)

Liabilities Assets
Current 400 { Cash 100
liabilities
Share 1,000 | Marketable 100
capital Securities
Bonds 600 | Debtor 200
Retained 400 | Inventory 300
Eamning
Land and 600
building
Plant & 800
machinery
Furmture and | 300
Fixtures

Historical raie = Rs. 40/US §,
Current rate = Rs. 46/US §. 15
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4. (a) Do you agree that floating exchange rate regime is
a better option than the fixed exchange rate

regime? ‘ 7

(b) What do you mean by Fisher effect? Is it true that
interest rate differential equals inflation rate
differentials? 8
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Or

(a) Mention the broad features of the fixed parity
system of the exchange rate initiated by the IMF
during 1940s. What were the factors responsible
for its collapse by early 1970s ? 8

(b) How it is possible for purchasing power parity
to hold, if the international fisher effect does

not ? 7
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5. (a) What are the functions of the Export-Impott Bank

of India ? Comment on its performance. 5
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(b)

(c)

(a)

(b)

(i)

What is netting and how can it improve a MNCs
performance ? 5

How can an MNC implement leading and lagging
techniques to help subsidiaries in need of funds ?

5
Or

When should a firm consider purchasing a call
option for foreign currency hedging ? 5

Assume that, on 1 November the spot rate of the
£/US $ was $1.58 and the price on a December
futures contract was $1.59. Assume that the pound
depreciates  over November, so that by 30
November it is worth $1.51.

What do you think would happen 1o the futures
price over the month of November ? Why ? 5

If you expected this to occur, would you have
purchased or sold a December futures contract on
GBP on 1 November ? Explain. 10
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